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x2—20=J20+J20+J20+",20+...3:F|-?I %
&, A x forus arat 2 2

(a) 4
® 5
e 5

@ 25

af 2P | ctd oo o v o 2, @ PR

b+ec d+a

q 8§ S w22

(a) a+b=c+d
&
(b) a+c=b+d %
N
(0 a-b-c+d=0 Q\Q%

N\
(d) a+b+c+d=§9

IfZ (a3 + b3), (a2 — b2) % THEUE B, @
(a2 — ab + b?) foFE THEI & 2

(a)  (a—h)
(b) (a+b)
(c) (a+ab+b)

@ (@%-bd)

(2-A)

Jx+20+ /x-1 W
b =~ oy o

Jx+20)(x—1) & HE 18 ?

(a) 8
(b) 9
(¢ 10
d 12

(x8 — y8) 3 (x7 - y7 +xPy2— x2y5) 1 HCF FT
272

(a) (x2+y?)

(b) o (x2-y2)

(e x3 - y3 - x2%y + xy?)

(d), (x3-y3+x2y—xy?)

Ffe TefiRtor x2 — 14x + k = 0 % G&l o o I
AMTHSA 100 B, a1 k 1 A F41 8 2

(a) 42

(b) 48

() 52

(d) 56

Tlﬁ_x2+px+q 3ﬂ'{x2_+qx+p$IHCF
(x+K) 8, & pxq®, dl kT TH TR ?

(a) -1
(b) 0

1
(c) E
()0
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If

x?-20= Jzo + Jzo 4120+ /20 + .. infinite terms,

then what is x equal to ?

(a) 4

(b) 5

e 5
@ 25

a+b c+d

If =
b+ec d+a

where a # ¢, then which one

of the following is correct ?

(a) a+b=c+d §®
&
(b) a+c=b+d §2§
\Q‘G
(¢) a-b-c+d=0 @Q
$

(d a+b+c+d=0

If (a3 + b3) is proportional to (a2 — b2), then
(a2 — ab + b?) is proportional to

(a) (a-b)
(b) (a+Dh)
(¢ (a+ab+bh)

(@ (a®-bd)

(3-A)

If 1f:\:+20+,(x—1 R |

A then what is the

Jx+20 - x-1
value of [(x +20) (x-1) ?
(a) 8
) 9
(e) 10
d 12

What is the HCF (of\ (x8-y8) and
(x7 - y7 + xBy2 — x2y6) ?

(a) (x2+y?)

(b) x2-y3)

(¢) . &% —y3<x%y + xy2)

(@ " (x¥—y3 + x2y — xy2)

If the sum of the squares of the roots of the

equation x2 — 14x + k = 0 is 100, then what is
the value of k ?

(a) 42
(b) 48
() 52
(d) 56

If (x + k) is the HCF of x2 + px + q and
x?2 + gx + p, where p # q, then what is the

value of k ?
(a) -1
(b) 0

1
(c) E
d 1
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8. AR 3 Hewmd 7§ a€t vew F fp i 81 11, F=fafgs se w e fife
e | fawfsa fen s, @ wrrea 6 @
R I9%a 6 B | AR B " & uie 7

. 1. x4 (y-2) +yt(z-x) + 2% (x - y) UATHS B
#I g€ e | fawfa e sie, @ wrmea 2 :

BT 3 AT 3 BN | 21 SISl % o H1 W=yt
A TR ? .
e 2. x*(y-2) +y*(z-x) + 2% (x - y) RUMHS
Gi g : ; %qﬁx<y<z%|
() 10 b
f 39wl A B/ T R 0
@ 12
9. F=fafaa s w faewr Hifve . (a) %had 1
1. a?2(b-c¢P® +b%(c-a)+c2(a-b)BHl (b) AT 2.
Tﬂ'@g(ab+bc+ca)%l'
2. a2(b - ¢P + b2(c— a)® +'c2(a = b)® W (13 23
TES (a+b+c) 8 |
< (d Ja 1,982
I HU § F PA-F/HEY g8 2R 2
(a) Fad 1 g\\g
N
(b) FHad 2 \Q‘b-
© 13 23R §
(d) IA LT
x% —24x% + 144x?
12. s s 2 2
10. : + : + (x? +44/3x +12)(x - 2/3)2 !
_ X(x-yNx-2) yAy = z)(y — x)
PEAETY T )
z(z-x)z-y) @ x?
foras aue 8 2
(b) x2-2
(a) 0
b 1 ) x2+2J3
(e) L
Z
xyl @ x2-2/3
(d) AT
XyZ
FDGT-T-EMT (4-A)
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8.  If three times the greater of two numbers is [11.
divided by the smaller number, the quotient
will be 6 and the remainder will be 6. If five
times the smaller number is divided by the
greater number, the quotient will be 2 and the
remainder will be 3. What is the difference
between the numbers ?

(a) 8
(b) 9
(e)= 109
(@): 12

9.  Consider the following statements :

s (ab + bec + ca) is a factor of
a2(b-cPB +b2(c—-a)+c2(a—h)s.

2. (a+b+e) s a factor of
aZ(b-c)® +b2(c—a)3 +c2(a-h)3
Which of the statements given above is/are

correct ? %Q
(a) Only1 @‘
(b) Only?2 QQ’
v $® 12.
(¢c) Both1and?2 @
(d) Neither 1 nor 2
10. What is
1 1 4
X(x-y)x-1z) y (y=2z)y -x)
U 0 )
z(z-x)z-y)
equal to ?
(a) O
(57) e |
(o
Xyz
i L
Xyz
FDGT-T-EMT (5-A)

Consider the following statements :

1. x*(y-2)+y*Gz-x+z4(x-y) is

positive if x > y > z.

2. x{(y-2)+y'z-x)+24(x-y) is

negative if x < y < z.

Which of the above statements is/are correct ?

(a) Only1
(b) Only2
(c) Bothland?2
(d) © Neither 1 nor 2
6 4 2
X .—24x" +144x
What is equal
(x2 +43x + 12)(x - 2/3)? ”
to ?
(a) x2
(b) =x2-2
(©) x2+2J3
d x2-2/3
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13. X 3iv v forelt w1 @ spawr: 45 fei 3T 40 fei

14.

A H ERG B | S T Y HE YE W 8,
A X, n &7 & a1g w1 Sig 2@ R it v 9w

w1 23 ot 8 qu w2 1 n v

g

(a): '8
)i o
(e) 10

(d)- 12

10 =2 ufafe #m =0 W 480 =fth vh-m
%1 1 10 fedi # qu w8 | 8 = wlafeq wm
FH T, WY 99 g FA * 20 A 4 @ s
% fou fraa srfafer =afwdl =1 faifa +@
6 EvIHaT 8 ?

&
(a) 400 &§
(b) 420 NS
@Q
(e) 480 @
(d 500
15. 12 "fgen 3R 16 &9 foreht vef &t 5 fea & @@
T THA & | 13 Hfgen 3 24 gow 36t wE =
4 T 4 qu = wd & | 25 ufeensdi ik
50 Y&91 I 39 ®E B QU HA F foha @ng
A ?
(a) 1f@
m 2fF
¢ 3f=
(d 4f@
FDGT-T-EMT

16. 3 WE X 3 Y, 1320 km H @ W E |

17.

(6-A)

m@éﬂ?xaﬁa.m.ﬂmﬂﬁaﬂ?ﬁ%
3R 60 km/hr H1 3Hd o & T B |
2 p.m. T gH0 W@ Y ¥ X it 3R Fo 1 T8
FHd 2 3 80 km/hr H NHA w1 B =erdt
2 | 9 Fe fiyeiht 2 !

(a) 6p.m.
(b) 7pm.
(¢c) 8p.m,

(d). 9p.m.

A A a1 31 e Yeehlaial 3 ar &
fagm @ sue: 3 : 2 3 4: 1% sgum § W
Sd & | 39 firemE w5 s et e § e
fora e @ | iR fieme # Uewiete ot oeh
%1 I FAT B 2

(a) 5:4
(b T2
() T8

@ @4
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13.

14.

15'

(a) 1day
(b) 2days
(c) 3days
(d) 4 days
FDGT-T-EMT (7-

X and Y can do a piece of work in 45 days and
40 days respectively. They begin to work
together, but X leaves after n days and then Y
completes the remaining work in 23 days.
What is n equal to ?

(a) 8
(b) 9
() 10
d 12

. 480 persons working 10 hours per day

complete one-fourth of a work in 10 days. How
many additional persons are to be employed in

order to complete the remaining work in

20 days, working 8 hours per day ?

(a) 400 \Q®
g\
(b) 420 &2,
\Q‘Z)-
(e) 480 $Q
(d) 500 @

12 women and 16 men-can do a piece of work
in 5 days. 13 women and 24 men can do it in
4 days. How long will 25 women and 50 men
take to do it ?

16.

17.

A)

There are two stations X and Y, 1320 km
apart. A train starts from station X at 6 a.m.
and moves at an average speed of 60 km/hr. At

2 p.m. another train starts from Y towards X

~ and moves at an average speed of 80 km/hr.

When do they meet ?

(a) . 6pm.

(b) 7 p.m. 5
() Spm. |

(d) 9pm.

Two glasses of equal volume are ﬁlled with a
mixture of alcohol and water in the ratio 3 : 2
and 4:1, respectively. These glasses are
emptied into a third glass. What is the ratio of

alcohol and water in the third glass ?

(a) 5:4
b T7:2
(e). " i3
d 7:4
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18. 3fe

19.

20.

FDGT-T-EMT

3 6 9 27
5’ 25" 20’ 50
g A fefefeada saadt 2 2

T HCF, x 8 3 LCM, y

(a)
(b)
(¢) y=270x

(d)

K@Tyawm%,ﬂ?x>y%lﬁ
x ®I 6 9 fawrfom foran wman 2, o Svwet 2 S
2 3, 99 y N 6  fawfom fopan wmen 2, @
e 3 A R | AR x - y) F 6 A R

- fopan ST A SNGe @ A2 2

(a) 1
(b) 3
¢ &

(d)

2-37h! ATl Ush @A H1 WM, bl & ANTHA
1 57T 8 | 3kl 1 UGS 7T R 2

(a) 15
(b) 18
(c) 20

d) 27

21.

22,

23.

(8-A)

- (b)

e N=126x38x5® W fmm #ifvg |
ffefiga st # & FH-AVEH-E T 3738 2
1. N fawm eAes fi sem 6o e |

2. N G0 UHEs! $ T 720 7 |

Hr= fou U e 1 wEm = wE W gAY
(a) ad 1

(b) Had 2

(© 1323

@ T LTR2

afz 082 _ logiob _ logwe (. .03
b=c c-a a-b

<l abe ST A 1 8 ?
(a) -1
(b) 0
(&) =

d 3

72w "t 4 °e 40 e @t & ot 9 it 93
3 fire i g % ot =1 S0 F 2 2

(a) 80°
100°
(¢) 120°

(d) 220°
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18. If x is the HCF and y is the LCM of
E,i,i,gz, then which one of the
5 25 20 50
following is correct ?
(a) y=90x
(b) y=180x
(e) y=270x
(d y=2360x
19. There are two natural numbers x and ¥, where
x > y. When x is divided by 6, it leaves the
remainder 2 and; when y is divided by 6, it
leaves the remainder 3. What is the remainder
when (x —y) is divided by 6 ? .
(a) 1 §§&6®
(b) 3 NS
| &
() 5 &’Q
S bo e
(d) Remainder cannot be determined
20. The value of a 2-digit number is 5 times the
sum of the digits. What is the product of the
digits ?
(a) 15
(b) 18
() 20
d) 27
FDGT-T-EMT (9-

21.

23.

A)

Consider the number N = 126 x 38 x 53, Which

of the following statements is/are correct ?
1 The numher of odd factors of N is 60.
2. The number of even factors of N is 720.

Select the correct answer using the code given
below :

(a) Onlyl

(b) Only2

(¢) Both1land2
(d) Neither 1 nor 2

logyga _ logpb _ logyc
If = =
b-c c—a a-b

then what is the value of abe ?

,(a#b =#e),

(a) -1
(b) 0
(¢) 1
(d 3

What is the angle between the hour hand and
the minute hand of a clock when the clock

shows 4 hours 40 minutes ?

(a) 80°

(b) 100°

(e) 120°

(d) 220°
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24. 3R logy, [99544::2 -—12x+60} =38 AW

25.

26.

FDGT-T-EMT

T % Y&l T ATH 91 R 2
(a) 12
()1
() . 10

d@ 9

x % frafafes o=l § @ feey wm wftesor
qx2—2px+q=0ﬁﬁ§23ﬁﬁ?

1 i o | S R S

X =
Jp+a-yJp-q

2 2
+ — 5
R e e o S S,

q

A T px) = %% + x2 + 1,
q(;}=x4—2x3+3x2—2x+1% I'!Tﬁp(x)?'ﬂ'{
q(x) T GCD, x2 — x + 1 &, T 391 LCM &1

22
@ R+x+DE2-x+1)2
(b) (§4+x2+ 12(x2-x+1)
() (x*+x2+1)x2+x+1)2

d) (xt+x2+1)x2-x+1)2

27. = o U yw 3R @) FeE w fAEw Hifte .

28,

(10-A)

2-3h1 F Uh WS H| 3§ T&T F FH B
NEA-aGH (ITTC) T §418 T W1 H AT Al
(3

o :  2-3hl h HEAT B R 2

FYL1: ATHA 9F WST B |

FIF2: AMHA 28 A 2 |

g R HUE * weW # frefaRes § @
HiT-aT 98 2 2

?wmﬁ%m%ﬁawqm

;ﬂﬂﬁ%ﬁ%%ﬁ%ﬁﬁﬂq&m

(c) T¥. I IW A F fow wee-1 3k HoA-2,
T e &

(d) T F IW A F I HIA-1 3R Fo-2,
2 vt T &

(a)

(b)

= fou U yvw 3 @ st W e Hifvw
3 et x 3 y 1 LCM 4818, 5&f x> .

¥ : (3x-2y) B HHA TR ?

dIYT1: y>1.

FY72: xR y I HCF 12 |

YA R HUH b wed d frefafas A @
HiA-A1 TE R 2

(a) T H IH A & fou Faa s99-1 wg
? ;

T 1 I oA & U Fae w99-2 g
2

(c) W 1 I 37 & U H9-1 3 FoH-2,
1 gt § '

T T I A F 0 HIA-1 3R FUA-2,
A1 gate & &

(b)

(d)
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24, If logm[995+ vx2 -12x + 60] = 3, then what
is the sum of the roots of the equation ?
(a) 12
(b)- 11
(C)e 16
@ 9
25. How many of the following values of x would
- satisfy the equation qx? - 2px +q=07?
) 3 X = “p+q+”p_q,wherep>q
VP+a-4p-gq
[ h e
2. x=LI;-—L,wherep>q
S ”p+q,wherep>q
P—q
D
Select the correct answer usm%& code givén
below : &2’
Nl
(a)  Only one value &Q
&
(b)  Only two valu
(c)  All three values
(d) None
26. Letp(x)=x%+x2+1,
q(x) = x* — 2x3 + 3x2 - 2x + 1. If GCD of p(x)
and q(x) is x2 — x + 1, then what is their LCM ?
(a) (x2+x+1)x2-x+1)2 -
b A*+x2+12x2-x+1)
(@ (x*+x2+1Dx2+x+1)2
d) (x*+x2+1Dx2-x+1)2
FDGT-T-EMT

27.

28.

(11-A)

Consider the question and two statements
given below :

A 2-digit number is added to the number
formed by reversing the digits of the 2-digit
number.

What is the 2-digit number ?

Statement-1 : The sum is divisible by 9.

Question :

Statement-2 : The sum is divisible by 2.
Which one of the following is correct in respect

_ of the question and the statements ?

(a) Statement-1 _alone ' is sufficient to
answer the question

(b) Statement-2 | alone is sufficient to
answer the question

(c) « Both Statement-1 and Statement-2 are
sufficient to answer the question

(d)._Both Statement-1 and Statement-2 are

not sufficient to answer the question

Consider the question and two statements
given below :

LCM of two numbers x and y is 481 where
X>y.
Question : What is the value of (3x — 2y) ?
Statement-1: y> 1.

Statement-2 : HCF of x and y is 1.

Which one of the following is correct in respect
of the question and the statements ?

(a) Statement-1 alone is sufficient to
answer the question

(b) Statement-2 alone is sufficient to
answer the question

(c) Both Statement-1 and Statement-2 are
sufficient to answer the question

(d) Both Statement-1 and Statement-2 are

not sufficient to answer the question
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2. fia foU Y 5 M Q) oA W AR AR (g1, wfka = 3b, 4b = 5, 6Ge = 7d 2, @ j*a
~ =8
I : I (x +y),.(x+y)ﬁﬂm%? S ke e
#YF1: n'TH Y T R |
FYF2: n'Th GH G0 GEA R | (@) %
Y AR HUHl & wed § Frfefed d @ w 48
T T R 2 _ 27
(@) W9 W IW A F o Haer -1 wia © -27
B . 43
(b) T W IW A * foIC SHae HuF-2 gt @ —%%
2
(¢) U F1 I ¢4 % faU -1 3 Hoq-2,
a1 gafeq &
(@) W9 1 IR A F R0 o1 o ez (32 k H 9 wWA ww § e fm Sgie
A vt e & (e-8)x-kx-1 & &I awafas Wk
E THES 757 8 ?
30. mmaﬂzamﬁwﬁa%@ﬁn:
AN (@ k<-6
mﬁ’rﬁq::ﬁwa’tamﬁaa@%n
T - wxy>0%? \Q(b’ (b) —-6<k<2
| N .
FHY%1: x8y9 < 0. @ : . (0} 2<k<h
FHY72: x%10 <, d k>6
A IR HE F G # FrafaRes § R
H-41 TE R 2 _
(@) ?Wmaﬁ%%ﬁmw'IWS& Ife bc+cd=2bd I a+c=2b %, at
(b) W N I 2 F N o FoH-2 T i oo
2 . (a) ab-cd=0
(c) ¥ F IW a4 F AT FoH-1 3 FoH-2,
a:ﬁ'q?ﬁ"?l’-g (b) ac—bd=0
(d) I HIW A & foTU wem.1 3R FuR-2, (0 ad-bc=0
21 e 7 &
: (d) ad+bc=0
FDGT-T-EMT (12-A)
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29. Consider the question and two statements|31. Ifa = 3b, 4b = 5¢, 6¢ = 7d, then what is :11+ -
-a
given below :
equal to ?
Question : Is (x™ + y") divisible by (x + y) ?
27
Statement-1 : n is a natural number. (a) 43
Statement-2 : n is an even natural number. ®) 43
Which one of the following is correct in respect 21
of the question and the statements ? © 27
c — —
(a) Statement-1 alone is sufficient to 43
answer the question 43
d - o7
(b) Statement-2 alone is sufficient to
answer the question
(c) Both Statement-1 and Statement-2 are
sufficient to answer the question 32. What are the values of k for which the
(d) Both Statement-1 and Statement-2 are polynomial (k — 8)x2 — kx — 1 has no real
not sufficient to answer the question linear factors ?
_ (@) k<-6
30. Consider the question and tvgés%tements
given below : &2, (b) -6<k<2
O
Letxandybetworealr@rs. ) 2<k<@
Question : Is xy >@
Statement-1: x8y9 < 0. SUBE o
Statement-2 : x%10 < 0.
Which one of the following is correct in respect
of the question and the statements ? 33. If bc+cd =2bd and a + c = 2b, then which
(a) Statement-1 alone is sufficient to one of the following is correct ?
answer the question o A e b
(b) Statement-2 alone is sufficient to
answer the question (b) ac-bd=0
(c) - Both Statement-1 and Statement-2 are © ad-bc=0
sufficient to answer the question
d d+be=0
(d) Both Statement-1 and Statement-2 are ey
not sufficient to answer the question

FDGT-T-EMT (13-A)
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34. 2800 km I IgA H, et foum & nfy wu=|37.
HIE9 % HEU HY & T | qE] F A 9|
3Ed T 100 km/hr 8 & T 3R I3H @5
a9 30 fime wg man | fawm & @ sitwa nfy
fopeet oft 2
(a) 700 km/hr
(b) 750 km/hr
(¢) 800 km/hr
(d) 900 km/hr

38.

35. ﬂﬁx=b+c,y=c+a,z=a+b§,?ﬁ
(x +y + 2)3 — 24xyz fopae sU=t 2 2
(a) ad3+b3+cd
(b) 2(a3+ b3 +¢d)

(c) 8(a3+b3+c3).
39,
@ I § A F S@Q
_ &>

36. TH AP X TIH A & IE Hal 8 3N
TaU = Y 36 TELTAE B H Fa
& HEI 2, A ¥ dkm B gh w3
U & eI ¥ =ed & 1. X).u km/hr i 3itEE
It ¥ Tl & 3 Y, v kmvhr 61 30T 919 3
TAdT & | Y ¥.3m e & gt X A =@
1 B 2

ud 40.
(a) e
vd
(b) o
(ud - vd)
(c) s
@ (@d+vd)
(u+v)
FDGT-T-EMT (14-A)

I foreht e o 35% sgorn & ff9 #1 oim
p & of ¥ W ¥ st e g b
%aﬁamaiﬂtq%,a‘rp4+4p2%a%m
22

(a) 4q

(b) 8q

() 4q2

(d) g2

e x =2 + 212 B, A x4 % 16x4 I O T4

22 '

(a) 152
(b) 144
(e) ', 186
(d)~, 132

30 km e H X, Y I g1 | 3 6 a1 S
# 13 X s =1 A g o T R, @ 9
YH 262 HH a1 ] | YH o =R 2

(a). 3 kmfh:
(b) 4 km/hr

2
(c) 4? km/hr
; 3"
(d) 4? km/hr

afG T 10,000 W 4% i s T F Ifaw
HIYR T E§IIAd T 9§ &1 Fhgfy o9 C 8,
a fraferfaa § & e ad 2 2

(a) -
(b) T 100<C< ¥ 200
(€0 ¥ 200<C <% 400

C<Z100

(d C>T 400 -
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34. In a flight of 2800 km, an aireraft was slowed | 37.
down due to bad weather. Its average speed
for the trip was reduced by 100 km/hr and
time of flight increased by 30 minutes. What
was the original average speed of the aircraft ?
(a) 700 km/hr
(b) 750 km/hr
(c) 800 km/hr
(d) 900 km/hr
38.
35. If x=b+c¢, y=c+a, z=a+b, then what is
(x +y + 2)3 — 24xyz equal to ?
(a) ad+b3+cd
(b) 2(a®+b3+c3)
() 8(ad+b3+cd)
39.
(d) None of the above S\\§
¥
36. A person X starts from a A and another
person Y starts simul usly from another
place B which is d km‘away from A, They walk
in the same -direction. X walks af an average
speed of u km/hr and Y walks at an average
speed of v km/hr. How far will X have walked
before he overtakes Y ?
40.
ud
. ey
d
b Vi
(b) PR
© (ud - vd)
(u-v)
@ (ud + vd)
(u+vwv)
FDGT-T-EMT (15-A)

If p is the difference between a number and its
reciprocal and q is the difference between the
square of the same number and the square of
its reciprocal, then what is p* + 4p? equal to ?

(a) 4q
(b) 8q
() 4q2
(d q?

If x = 2 + 2V2 then.what is the value of
x4+ 16x4?

(a) 152 ”
(b) 144
(c) o 136
(d)", 132

X takes 3 hours longer than Y to walk 30 km.

~If X doubles his speed, he takes 2 hours less

than Y. What is the speed of Y ?

(a) 3 km/hr
) 4
(©) 4% koivhe
@ 4% Keafis

If C is the compound interest on ¥ 10,000 for

one year at 4% per annum when compounded
quarterly, then which one of the following is

" correct ?
(@) €C<<T 100
(b) T 100<C < T 200

(© T200<C<%400

(d C>7%T 400

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

37 317 qIT F (02) T F forw RefifEa w Aar
FIY :

m6x2—25x+i+§+12=0q{

x2 X
foam <hifSme |

41. x-lﬁéﬂﬁamﬁﬁ&wmm%?

X
(a)

(b)

(c)
(d)

pjon N o o

42, x2+ iz %éﬂrﬁﬁnﬁﬁ@r@mw%?

44.

45.

sin? A + sin2 B + sin2 C fopE® s & 7

(a) 2
5
b 2
(b) 1
@ 1
3
d L)
(d) 1
g <ht e 71 2 2
(a) 45cm
(b) 6em
(¢) T75cm
(d) 15em

37 3771 @rer @t (02) FeI % o e w fren

(a) 6 T
o 52 : foelt sl 1 @e & H fer I feft fig (p)
9 QQQ ¥ U F1gd B C T ITH H107 30° 2 | e
c) 8 g\\ Hag ¥ 91g $ Fu 2H Hiet & | wH +ffu
P ‘&\% fog P & srg@ % s # wfofda =1 s
9 $Q\Q HTOR |
T S A AT (03) A RO AT T gq. o w2
?%Wéi?%?:
_ _ (a) 30°
U g9 % Aaid Th GYF ABC @fen T R, Y
fsaehl 9o AB = 15 em, BC = 9 cm,
CA=12cm# | g
(d) I ST % wru Fuifa 78 e
43. cos?A +cos2B + cos2 C TorEsh SU=T £ 2 Hehdl
(a) % 47. PCforas su=t 2 2
L O | (a) HHRX
oy (b) J2H HiX
4 © 3H WX
@ 2 (d) 2HHR
FDGT-T-EMT (16-A)
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Consider the following for the next two (02) items
that follow :

Consider the equation

%+§+12=0.

b4 X

6x2 — 25x +

What is one of the possible values of x — L e

41.
X
1
(a) =
Yo
3
e
(b) g
(e} 2
5
d -
2
42. What is one of the possible values of x2 + % ?

44, Whatis sin? A + sin? B + sin2 C equal to ?
@ 2
' 5
b L
(b) 1
o e |
8
d -
4
45. What is the radius of the cir¢le ?
(a) 45cm
(b) 6ecm
() T7-5cm
(d) 15em

Consider the following for the next two (02) items
that follow.;

(a 6 ® The angle of elevation of a cloud at C from a
(b) 62 S\\Q point (P), H metres above the surface of a lake
9 @‘ is 30°. The height of the cloud from the surface
() 8 \Q(Z)- of the lake is 2H metres. Let 0 be the angle of
(d) %g § depression of the reflection of the cloud in the
s‘ lake from the point P.
Consider the following for the next three (03) items|46. What is the value of 6 ?
that follow : (a) 30°
(b) 45°
A triangle ABC with sides AB =15cm, (¢) 60°
BC =9 em, CA = 12 em is inseribed in a circle. (@ Oaanble e’ " detarsingd = dus. 45
insufficient data
43. Whatis cos? A + cos? B + cos? C equal to ?
(a) 3 47. What is PC equal to ?
4
(a) H metres
d 1
5 (b)  V2H metres
(e) 4 (¢)  3H metres
(d 2 (d) 2H metres
FDGT-T-EMT (17-A)
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7 A Fid @ (03) ¥ F fow fAEfiEaa w
feram #ifa -

f19 v IRERal s arferst 4 T R

X 0 1 2 3 4 5

f | 46 p q | 26 | 10 5

FeT TRERAT 200 8 37T &2 HT 01T 146 2 |

p I AH T ?
(a) 170
(b) 172
() 176

(d 78

49.

(a) 32

(b) 34
(c) 36

(d 38

50. 29 1 HIETH FAT 8 ?
@ 1
(b2

{&)--3

d 4

FDGT-T-EMT

51.

52.

(18-A)

2k 2
ﬂ'ﬁtanE): qpp

secB+cosG+2%ﬂ%W%?

2,

; 0<B<90°

p? +q°
Pq

(a)

(p+q?
Pq

(b)

=

(e) _(p £
2pq

(p-q)?
pq

(d)

4f¢ 11 5in 0 + 60 cos 6 = 61; 0 <0 < 90° &, aI
J660 (tan 6 + cot6) 1 HH T B ?

61
61/2

122

(a)
(b)
(c)

@ 122V2

g9 o€ qeaus (e |y geE) I
15 yenati & et snagye & ofdia @R Y
foreft g1 1 e = R 2

(a) 0-5cot 12°
(b): ‘cot 12°
(e) 0-5tan 12°

(d) tan12°
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‘Consider the following for the next three (03) items 51,
that follow :

A frequency diétﬁbutiong)le is gi\lren below :

% 0 1 2 3 4 5
f | 46 | p q | 256 | 10 5

Total frequency is 200 and mean of the

distribution is 1-46.
48. What is the value of p ?

(a) 170

by 72

() 76 52.

(d 78

N
49, What is the value of q ? §Q§
\Q‘b-
(a) 82 N
$

(b) 34

() 36

(d) 38 ol
50. What is the median of the distribution ?

fa) =1

(b) 2

(e) 3

(d 4
FDGT-T-EMT (19-A)

(c)

. (b)

[2_ 2
Ftang= 3P
p

sec O + cos 0 + 2 equal to ?

;0<0< 96°, then what is

2 2
(a) .u
: Pq
(p+ q)2

Pq

(b)
(p + q)2
2pq

(p- q)2
Pq

(d)

If 11.sin 6+ 60 cos 6 = 61; 0 < 6 < 90°, then
what is the value of /660 (tan + cot8) ?

(a) 61

b) 61J2
() = 122
@ 122V2

What is the diameter of a circle inscribed in a

regular polygon of 15 sides with side length

unity ?

(a) 0-5cot12°
cot 12°

(¢) 05tan 12°

(d) tan12°

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

54. ﬂﬁ

55.

56.

FDGT-T-EMT

“(b) HaA 2

1+sme _3 - tanb + secH -1
cos0 - tanf —secB+1

TR 2 ?

(@ -x
Bl =x
(e) 2x

3
(d) 2

frafafigs w fomm fifse

tan6 +sin@ _

secO+1 %
tanB-—éinB

secH -1

ETETO<B<—%I

2tanf
tan20+1

cos20-sinZ0 s

_ L]
c0s20 +sinZ0

am0<e<_%|

394 § ¥ FH-F/HHE
(a) Had 1

(¢) 13T 22t @
@ T@1L,ITE2

sin® + cosB

sin B — cosO 4

% s 2sin0+ 3 cosO
?

O HIUM TR ?
3s5in0 -2 cos0

=5%,Eﬁ0<9<%;9¢3 .
60.

57.

58’

59.

(20-A)

} =x &,
cosec 0 —cot® smB X%
1
9; 3 fopes sTem B, et
cosec O +cot® sin®
0<0<Zg?
< (2%

(a) -x
b)) x
© <

X
el

X

2 sin® 0 + 2 cos® 0 — 3 sin 6 — 3 cost 0 fopEh

T 8 2

(a) W—-1 ‘
(b) 10
o 1
) 2

3600 sec? 6 + 121 cosec? 0 1 A HH FT 2,

313? 0<H< % % ?
(a) 1320
(b) 2401
(e) 8721
(d) 5041

1+sin0)2 o )2
[ J Pl S —2 frEs =
cosB 1+sinf

%,ﬁﬁ0<9<g%?

(a) tan®
(b) cot®
() 2tan®
(d 2cot®
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Ba. Cifx = 2t E00 L s JARA 10000 -1 gy
' cos tan6 —secH + 1
equal to ?
(a) -x
(b »x
() 2x
- =
(d) 2
55. Consider the following :
tanO +sinf _ secH+1
tan0-sin® secO-1 58.

where 0 <0 < g

cos20 -sin20 _ 2tan®

o = »
cos?0 + sin2 0 tan20 + 1
here 0 <0 < =.
where 0 <0 < 5 ®
%Q
Which of the above is/are identi ; 59.
&
(a) Only1 QQ)-
(b) Only 2 $®
(© Bothland2 O
(d) Neither 1 nor 2
sin 0 + cosf T m
56, If ——————— =5, where 0 <0 < —, 0 # —,
sin 0 — cos0 2 4
then what is the value of M ?
3sin6 -2 cosH 60.
8
(a) g
(b)
12 ¥
(c) ?
(@) 13
FDGT-T-EMT (21-A)

g : 5 -1 = x, then what is
cosec O — cot O sin®
1 1 ;
ol D+ ookl - - al to,
cosec 0 + cot 0 sin® b b 0, where
0<B< L ?
2
(a) -x
(B)i-=%
@
X
@)
X
What is 2 sin®0 # 2 cos®6 — 3 sin* 6 — 3 cos* 6

equal to ?

(a) <%
(b) ~0
D Qe g
(d) 2
What is the minimum value of

3600 sec? 0 + 121 cosec? 0, where 0 < 0 < —;— ?

(a) 1320
(b) 2401
(e) 3721
(d) 5041

N S 2
What is (“me] MG S W R
cos0 1+sin6

to, where 0 < 0 < L

(a) tan®
(b) cot®
(¢) 2tan®
(d) 2coth
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6l. A y 3 z & 9 sqcHsd W=y x B, Al
Frafafga & & 9o w8 2 2
(a) xy+xz—-yz=0
(b) xy+xz-2yz=0
() xy+xz+yz=0
(d xy+xz-4yz=0
62. 120 % T Huifad UFREE! 1 AeTe 4 R 2
(a) 10
(b 11
(¢) 12
d 135
63. 50 § WIfud n WHl % UH 9= & fagel &
AMEA - 10 B W 46 ¥ wiftg 39 wHi F|66.
forgeHt 1 Jea 70 B | 39 AET ®1 ATSY F4
g2 '
(a) 485
(b) 490 \\Q@.
() 495 S
(d) 500 \Q‘G_
64. 4W%W%§,ﬁ@wﬂmﬁaﬁ
g, ﬁﬂ%ﬁﬂﬁ'ﬁuﬁq{ Eﬁﬁﬂ:
e | P2 - et s o
I 60 60 .-
11 50 80
111 50 40
IV X - 50
gfe aft 9 foene™i & oEi % ofEq 3 58
&, o foemem-Iv & fFa o when § 33 2
(a) 38
(b) 40
(c) 42
d 44
FDGT-T-EMT (22-A)

65. fafim gaqui @r@mﬁ

4,7,10, 14, 2x + 3, 2x + 5, 22, 23, 30, 50

% 3he JWE A H F | x & fafay el 29
AT (321) F wTeqS & foru fpas dwifea 7
&

(a) had TH A

(b) Fae Q AA

(¢) had diF °9H

(d) 9" HE

I waeft 100 @0 wqel gEmist w wer M
2, argeeft 100 faww gl deed w1 wren
e

(a) M-1
(b) M

() M+1
d M+2

50 BTE1 % IEA 37 78-4 UTC MU | AfRT W1g |
Ww%%aﬁmﬁsgw%mwm
AR 25 & T ® 52 9§ forEm wm oor | W
aftga 3 T Sfea # S = R 2

(a) 004
(b) 0-08
(c) 012

(d 018
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61. If x is the harmonic mean between y and z,
then which one of the following is correct ?
(a) xy+xz-yz=0
(b) =xy+xz—-2yz=0
() xy+xz+yz=0
(d) xy+xz-4yz=0
62. What is the median of all possible factors of
120 ?
(a) 10
) 11
(e} 12
d 135
63. The sum of deviations of a set of n values
measured from 50 is — 10 and the sum of
deviations of the values measured from 46 is
70. What is the mean of the values ?
(a) 485
(b) 49:0 g\\@
() 495 &2)
(d) 500 \ép
@Q
»
64. Consider the following table in respect of
students of 4 schools who appeared in a test :
Number of [ Average marks in
metinl students tlgle test
I 60 60
II 50 80
111 50 40
IV e 50
If the average marks of the students of all four
schools are 58, then.how many students
appeared from School-IV ?
(a) 38
(b) 40
(c) 42
(d) 44
FDGT-T-EMT

85.

67.

(23-A)

The data of different natural numbers

4,7,10, 14, 2x + 3, 2x + 5, 22, 23, 30, 50
are in ascending order. How many possible
values are there for the median of the data for
various values of x ?

(a) Only one value
(b)  Only two values
(¢)  Only three values
(d) Five values

If M is the mean of the first 100 even natural
numbers, then what is the mean of the
first 100 odd natural numbers ?

(@ M-1
(b) M

() M+1
(d M+2

Mean marks of 50 students were found to be
78:4. But later it was detected that 95 was
misread as 59 and 25 was misread as 52.
What is the difference between correct mean
and incorrect mean ?

(a) 0:04
() 008
(¢) 012
(d) 018
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68.

T IS ABCH, £ A=20, /B=,C=403

0, 4 sin20 + 2sin 0 — 1 = 0 %I HYGE T 2 |
BC %1 AB & 3{urd &1 & ?
() ol
) 5 -1)
2

(5 -1)
(c) 1
@ 265-1

69. T FINT ABC & 3iia U g @ien wmar § |

70.

FDGT-T-EMT

~ ¥& Y91 BC, CA, AB &I %5 D, E, F T ¢

FA1 8 | ~ EDF foreeh st 8 2

90° - A
_(B+0)

. $

(a)

(b) 90°

(c) - 90°-2A

aﬂtm,wmaﬁggﬁm&w'

1 F91% H 2 ol 39 +m & Tt o we At
qed ol B hi w9 L 2, o Fefofea 3§ @
HH-91 TEl B ?

(@) 12L=29H
(b) 9L =25H
() 7L=23H

(d 5L=13H

37 3 aret AT (03) ¥ F forw Fofifya @
faem #ifae -

71.

72,

73.

(24-A)

12 cm Brsa 3R 16 om F=1d 9w viEEER
e B GH W W T R | T T o |
3qW I # R T F AR T @ 9w
w7 1 fari Ht wet B } o 7 9 g
BAR |

e 1 B g 2

(a)
(b) 6ecm

5cm

(c) « 66cm

() “7em

r frer T (S g e § fea
qrft s= 2

(a) 288rmL
(b) 360n mL
(¢) 4807 mL

d 5007 mL

FH % TRE g SEmel @ M % e

el ¥ ITITT 4T R 2
(a) %
{p) %
(©) g
@ 2
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68. In a triangle ABC, /A =20, ZB=2C =46 Consider the following for the next three (03) items
and 0 satisfies 4 sin20 + 2 sin 6 — 1 = 0. What | that follow :
is the ratio of BC to AB ? ;
A conical vessel of radius 12 cm and height
@ 5 -1 : 16 cm is filled with water. A sphere is lowered
W5 -1 into water and its size is such that it touches
®) 2 the sides of the vessel and it is just immersed.
W5-1)
(c) 4 71. What is the radius of the sphere ?
@ 265 -1 L O
; (b) 6cm
69. A circle is inseribed in a triangle ABC. It @ 6% cm
touches the sides BC, CA, AB at D, E, F
respectively. What is £ EDF equal to ? d T7cm
(a) 90°-A
(b) 90°- B+0) 72. How much water will remain in the vessel
B after the overflow ?
N
(© 90°-2A g\ (a) 288rmL
»
(d) 90° - [ﬁ} QQ)' (b) - 360n mL
2 N\ .
@ (¢) 480nmL
70. The length of a room is % times its breadth (d) 500m mL
and breadth is % times its height. If H is the
height of th m and-L is the 1 t rod
S A T 4 73. What is the ratio of lateral surface area of the
that can be placed in the room, then which one vessel to the surface area of the sphere ?
of the following is correct ? (a) %
(a) 12L=29H b) %
“(b) 9L=25H
5
(& =
() 7L=28H 3
@ bL=13H a3
FDGT-T-EMT ' (25-A)
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7 377 e 3 (02) oI # forg Arafeifa W fa9R|77. B ABC % STMR BC W w9 AD, BC # D W

Fiforg : 39 YR Yfdesfed & & @1f% DB = 3CD 2 |
foret g o 7 aé Hi uE S, g9 F I W Fetfefed & & a1 e @ 2
90° T IV T B | (a) 2(AB+AC)(AB - AC) = BC?
(b) 3(AB+AC)(AB-AC) =2 BC?
74. Y TS F &AFA fohal 8 ? (c) 4(AB+AC)(AB-AC) = 3 BC?
s ﬁ[,,-l] (d) 5(AB+AC) (AB - AC) = 4 BC®
2 2
®) %(n_%} 78. T4 ABC, C W g 37 AC = 3 BC
2 | 2« ABC formeh sumit @ 2
12 (n '
(c) T(E_l) . (a) 30°
2 ) 45¢
o 4
(@, *.60°
(d), 75°
75. < @S F1 S9%a fHaT B 2
@) %[%E”J \\QQ 79. s ABCH, £ A = 60° % | AB? + AC? - BC?
/ &5 forues s 2 2
(b) L(?E—1] & (a) AB.AC
4\ 2 '&Q
(b) AB.BC
(c) £[§E+1)§Q
2 2 (¢) AC.BC
- £[3—“-1J (d 2AB.AC
gl

80. did ¥ &4 U Tl 1 49 3 em & | T B

76. Y ABC, A W gueIviig § 3t AD, BC W @i ﬂww.%eﬂtmﬁmmmmu
%_|qﬁBD=7'5cm3ﬂ”{DC=10cm%,?ﬁAD ﬁﬁﬂﬁﬁ?@w:ﬁa@,?ﬁmwm

fores SR & 2 R

(a) 5cm (a) 03cm

(b) 542 em (b) 0-45cm

(¢ 543 em . (¢) 06cm

@ 10 (d 075cm
FDGT-T-EMT (26-A)
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Consider the following for the next two (02) items|77. The perpendicular AD on the base BC of a

that follow : triangle ABC intersects BC at D so that
DB =3 CD. Which one of the following is
A chord of length [ of a circle makes an angle correct ?

90° at the centre of the circle. (@) 2(AB+AC)(AB - AC) = BC?

: el
74. What is the area of the minor segment ? (b) 3(AB+AC)(AB-AC)=2BC

(c) 4(AB +AC)(AB - AC) = 3 BC?

2

(a) I—(n—l] 2
2 2 (d 5(AB+AC)(AB-AC)=4BC
& 1

(b) —(nr—) : ) y ; ;
4 2 78. Triangle ABC is righteangled at C and
2 AC = /3 BC. What is"Z ABC equal to ?
I“(n

© T[E_l) (a) 30°
2 . (b) 45°

(@ L(E—l) :
2\2 2 (). 60°

d) " 75°
75. What is the area of the major segment ?

@) ﬁ[i{iﬂ) g\\g 79.) In a triangle ABC, ZA = 60°. What is
4N NS “" AB?+ AC2—BCZequal to ?

B i

) ol oEdy & (@) AB.AC
i

(b) AB.BC

2 :

© %[ﬁzﬁn] _ | (©) - AC.BC
. (d 2AB.AC
1 (3n

") JRE s T

@ = [ g ]

80. The diameter of a sphere made of copper is
3 cm. The sphere is melted and recast into a
wire. If the length of the wire is half metre,
then what is the diameter of the wire ?

76. Triangle ABC is right-angled at A and AD is
perpendicular to BC. If BD = 75cm and
DC = 10 cm, then what is AD equal to ?

g o (a) 03cm

) 52 ov. (b) 0-45cm

(¢ 543 cm (¢) 06cm

(d 10cm v (d 075cm
FDGT-T-EMT (27-A)
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81. UHh W Hl H91E 30 cm B | THH YR & |84,
AL U HEGA § UF » I W UF Sler v
Fe F@ R | AR W W F e, fiw M
TF & A H 2—17 2, @ W & fous
(weew) 61 FuE =R 2
(a) 10em
(b) 12cm
(¢) 18cm 85.
(d) 20em

82. 9ig Fl UH FFAHR TG 24 cm & IHN
18cmﬁ%lﬁ%9@$ﬁﬁxcmﬁﬂ
T a1 HIeT AT & N FEH w= Te ¥
g fesar (afew) s@mn wmar 2 | IR fe=
(STe) 1 AFAT 640 ¥4 cm B, A x I AH
T 2 Q&

(@ 2 \\Q 86.
S
(b) 3 N
\Q‘Zr
oY= @Q
d 6 @

83. WH ofifVT x, y, 2z TH w9 HI waE, =,
FETE 8 | AfE 9T ARG 400 T em N FA
ﬂﬁﬂé’a’%%ﬁ?ﬁcm %,?ﬁx—1+y-1+z‘187
freh et 2 2 :

17
(a) 2—0
17
(b) 10
7
(c) E
9
G
FDGT-T-EMT (28-A)

T qHed (wﬁlﬂ)ﬁamﬂﬁﬁ% cm
3 21 cm # | @A Yord SR # 3R @S
1 TETE 85 cm B | HHCS 1 Shel 1 8 2

(a) 187-5F cm

®) 2275 em

(¢) 37591 cm

(d 4559 cm

16 cm ¥ ATefl T FTHR o i @I H 9T
128 gm 8 | 39 W2 8 ¥ 14 cm U H &

gaer foeF wd It ;| 9 = R W

WW%?(:!:%)

(a), 48 gm
(b) . 49 gm
(c) ~ 50 gm
(d) 51gm
T THEGYS HT #I%A 96 i cm B AN T

T ool 6 dEE 12 em B | HEEQHS @
afary 21 2 2

(a) 36cm
(b) 40cm .
(¢) 44cem
(d 48cm

10 cm P2 a1t U g9 % il uh wwehIig
By ABC @i wirr 2 | #9f AC W @™ T
Qﬁﬁﬁﬁﬁ@ﬁch%lﬂﬁAB=xcm3ﬁ'{
BC=ycm'3,7.'ﬁxy$TT-[HWT%?

(a) 60

BY 80

(¢) 120
(d) 160
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81. The height of a cone is 30 cm. A small cone is | 84
cut off at the top by a plane parallel to its
base. If its volume is El"f of the volume of the
given cone, then what is the height of the
frustum of the cone ?

(a) 10cm
(b) 12cm
(c) 18cm
(d) 20cm 85.

82. A rectangular metal sheet is of length 24 cm |
and breadth 18 cm. From each of its corners a
square of side x ¢m is cut off and an open
box is made of the remaining sheet. If the
volume of the box is 640 cubic cm, then what
is the value of x ?

(a) 2
a \\QQQ
(b) 3 ' 86.
R
(). 4
N
d 6 @

83. Let x, y, z be the length, breadth, height of a
cuboid. If its volume /s 400 .¢cubic em and
total surface area is 340 square cm, then what
is x14+y1+z1lequalto?

87.
(a) 2
20. .
17
oy e
(b) 20
|
c ——
(e) 10
9
d —
10
FDGT-T-EMT (29-A)
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(c)

‘Two parallel sides of a trapezium are 29 cm
and 21 cm. Non-parallel sides are equal and
each is of length 85 em. What is the area of
the trapezium ?

(a)

(b)

1876 square cm
227-5 square cm
375 square cm

(d) 455 square cm

A square copper plate of side 16 cm weighs
128 gm. A circular disc of diameter 14 cm is

cut off from the plate. What is the weight of

the remaining part ? (t = 378 )

(a) 48 gm
(b)  49gm
(c) ¢ 50 gm
(d) ~51gm

The area of a rhombus is 96 square cm and
one of its diagonals is of length 12 cm. What is
the perimeter of the rhombus ?

(a) 36cm
(b) 40cm
(c) 44cm
(d 48cm

“ A right-angled triangle ABC is inscribed in a

circle of radius 10 cm. The altitude drawn to
the hypotenuse AC is of length 8 cm. If.
AB = x cm and BC = y cm, then what is the
value of xy ?

(a) 60
(b) 80

(e) 120
(d) 160
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88. 3 IA FEA: T HW B | P HABaAl H1| 9L
AMTHSA 89n T cm B 3 ITh el & g
7l 13 om B | 3! Fswadt % e @1 ofa =
27 ' '
(a) 2em
(b) 25cm
() 3em
(d) 35cm
' 92.
89. T I 3N TH AFd H1 YA U & | I
Tl & H9 1 T cm H AR B | AT HI
waTs, Igeht =S ¥ fent arferes 2 2
(@ 1lcm
&
®) 2em _§Q§
© 3 M
C cm @Q
(d) 4cm @
90. 31 3Fd GUH &A% & &, I 480 & cm H| I3
ngﬁiﬁﬁﬁﬁﬁﬁcmﬂimﬁ4cm
T FA & | 3% qfEg § foraar s B 2
(a) 2em
(b) 4em
(¢) 6em
(d) 10em
FDGT-T-EMT (30-A)

wﬁn‘mﬁw,m@wwﬁaﬁwm
St 8 | sueh ame fomnd 12 cm, 10 cm 3R
8 cm & | 3 ariafteh qdfa et 376 @i em B,

a TS HI HeTS 7R 2
(a) 05cm

(b) 1lem

() 15cm

(d 2cm

X, Y3z 7 omemg fqer & | x sl v &
HABC 1 ANTHA, Z h She % ST @ | Al
X ot Y &t yameii i dergal A 6 cm 3R
8 cm &, A Z 1 g I wAaTS w1 R 2

(a) Y9cm
(b) 95cem
(¢) 10cm

(d) 10-5cm

210 m SH 9T T JARRR UTeh I Teh TFhl
T § T gt B fohan awg @i, 9t a8
Bkm/hrﬁamﬁ’ﬂﬁm%?(n:%)

66 fire

55 fie

4-4 fime

3-3 fime

(a)
(b)
(c)

(d)
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88.

89,

FDGT-T-EMT

Two circles touch externally. The sum of their | 91.
areas is 891 square cm and the distance
between their centres is 13 cm. What is the
difference in their radii ?

(a) 2cm
(b) 2:5em
() 3cm
(d) 35cm

A square and a rectangle have same
They differ
1 square cm. The length of the rectangle

perimeter. in areas by

exceeds its breadth by

(a 1l1lcm
‘<\Q®
(b) 2cm 6
(c) 3cm Q
& $Q\
(d) 4cm %Q

Two rectangles are of same area equal to
480 square cm. They differ in lengths by 6 cm
and breadths by 4 cm. What is the difference

in their perimeters ?
(a) 2cm
(b)

4 ecm

() 6em

(d) 10cm

(31-A)

A closed box is built of wood of uniform
thickness. Its external dimensions are 12 ¢m,
10 cm and 8 em. If the inner surface area is
376 square cm, then what is the thickness of
the wood ?

(a) 05cm
(b) 1lem
() 15cm
(d) 2 cm -

X, Y and Z aré three equilateral triangles. The
sum of thé areas of X and Y is equal to the
area of Z, If the side lengths of X and Y are
6 cm and 8 cm respectively, then what is the
side length of Z ?

(@ 9cm
(b) 95cm
() 10cm
(d 105cm

What is the time taken by a person to cover
one round of a circular park of diameter 210 m

if he walks at a speed of 6 km/hr ? (n = %)

(a) 6-6 minutes

(b) 5-5 minutes
(c) 4-4 minutes

(d) = 3:3 minutes
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94.

95.

FDGT-T-EMT

2//3 cm I Y I T wwarg By % iwta
TH ga @ien o @, S fBye i gemeit &
el war 2 | B ¥ 3w w9 R w1 e

R ?

23 - em
(3Y3 —m) & em
(43 - 2m) & em
4V3 —m @t em

(a)
(b)
(c)

(d)

wﬁ‘gﬁrﬁgamﬁﬁﬁimﬁxcm,x+ 13 ecm
3 x + 26 cm & | I 3T BB 126 T cm
R, AXH AT FR?
(a) 18
(b) 17
e
d 15

ABCD U& THGR BN ABaRCR

TSRAT §3A1 T g9 CD (9818 ) H E W
sfeeafen wa @ | frefifes & & #Rav
F-Y TE BR 2

1. AE=AD
2. CD=DE

Hr= feu T e 1w w wE I g
(a) e 1 '

(b) FId 2

1311 2 gA

(d T 1,782

(c)

97. TF=fafea suat w fomm $Hifse .

98,

(32-A)

. (c)

1. UH Guetg Bye #, Fge SR ofge &
g Hurdt § |

2. Uk WhI 9qys F F fgure, ww =
Th =g 9§ | 3

3. Y% WHIA THIG G TH A Ear
21

0 Hudl § 4 B wE E 2
(a) Had 13K 2

(b) I 2 3N 3

el 13K 3

1,23 3

(c)

(d)

ABCD % gues (2ifsram) 2, fomd AB, DC'
% guiat @ | ¥ A, B, C 3 D w g9 & Fra
Tord & | Frfeifga & & w8 5@ ¥ 2

1. AD=BC

2. ZA+/£C=180°

3. ZA+/D=180°

H= feu T e w1 W = wE W g
Haa 1311 2

Fad 2 3K 3

Fad 137K 3

1,23 3

(a)

(b)

(d)
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94,
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In an equilateral triangle of side 23 cm, a
circle is inscribed touching the sides. What is
the area of the remaining portion of the
triangle ?

(a) (2V3 —n)square cm

(b) (3V3 —n) square cm

(¢) (443 —2n) square cm

(d) (4/3 —n) square cm

A triangle has side lengths x cm, x + 13 c¢m
and x + 26 cm. If its area is 126 square cm,
then what is the value of x ?

(&), 28
(b) 17

e) 16

N
S\
&

S
ABCD is a parallelogram ircle through A,

B and C intersects CD Q3roduced) at B Which
of the following is/are correct ?

1. AE=AD

@ 15

2. CD=DE

Select the correct answer using the code given

below :
(a) Onlyl
(b) Only2
(¢) Both1land2

(d) Neither 1 nor 2

97.

98,

(33-A)

Consider the following statements :

1 In an equilateral triangle, the centroid

and centre of circumecircle coincide.

2.  Angle bisectors of a cyclic quadrilateral

form another cyclic quadrilateral.

3. Every cyclic parallelogram is a

rectangle.

Which of the statements given above are

correct ?
(a) Only1and?2
(b) Only2and3
(¢) Only1land3

(d (1,2and 3

ABCD is a trapezium in which AB is parallel
to DC. The vertices A, B, C and D pass
through a circle. Which of the following are

correct ?

1.. AD=BE

2. ZA+2C=180°
3. ZA+4£D=180°

Select the correct answer using the code éiven

below :
(a) Only1land?2
(b) Only2and3
(¢) Onlyland3

d 1,2and3
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99. ABCD T b9 G4+ ® | AB 3 DC %! 314 | 100. u& iy ABC #, DE U Y@ras & 31 AB #1
g1 Ia1 8, a1 @ E W fierdt # | frafafaa D 3R AC H E W 39 THR Sfa=sfeq wtar 2
HeEl § ¥ PH-AVHE-A TE 28 2 f% DE ¥Wi®t & BC % | I8 twr@s By #

2 o BD
1. AEBC,AEAD % &9&7 ? | s aﬁa’r_wﬁﬁm% ' AB
fermes s 2 2
2. ZCBE + £ DAE = 180°.
3% o 0 5z 0 A A I e A
(a.) Fae 1
(b) V2 -1
(b) A 2 J2
(¢) 13K 2gMl i
(c)
@ "Jd 1T 2 B
@ 2
N
g\
N
S
$
FDGT-T-EMT (34-A)
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99. ABCD is a cyclic quadrilateral. AB and DC |19, In a triangle ABC, DE is a line segment which

when produced, meet in E. Which of the intersects AB at D and AC at E such that DE
following statements is/are correct ? ;
is parallel to BC. The line segment divides the

1. AEBC is similar to A EAD. triangle in two parts of equal area. What is
] 2D equal to ?
2. ZCBE + £DAE = 180°. AB
Select the correct answer using the code given Jo -1
: (a) ——
below : 9
(a) Onlyl
V2-1
(b)
(b) Only 2 V2
(¢) Both1and 2 '
(e) ﬁ‘/:—l
(d Neither 1 nor 2 g
(), W2

FDGT-T-EMT (35-A)
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&l &TH o fore s
SPACE FOR ROUGH WORK
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&= wH & foru g
SPACE FOR ROUGH WORK

FDGT-T-EMT (37-A)
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H= T & foru s
SPACE FOR ROUGH WORK
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& A & foru s
SPACE FOR ROUGH WORK
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in the Answer Sheet.

8. All items carry equal
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concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to
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10. Penalty for wrong answers : _

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which a wrong answer
has lieen given by the candidate, one-third of the marks assigned to that question will be deducted as
penalty.

(ii))  If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as above to that question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.
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